Trig Identities

1. 
[image: image1.wmf]x

x

x

cos

sin

tan

=


2. 
[image: image2.wmf]x

x

x

x

sin

cos

tan

1

cot

=

=


3. 
[image: image3.wmf]x

x

cos

1

sec

=


4. 
[image: image4.wmf]x

x

sin

1

 

cosec

=


5. 
[image: image5.wmf]1

cos

sin

2

2

=

+

x

x


6. 
[image: image6.wmf]x

x

2

2

sec

1

tan

=

+


7. 
[image: image7.wmf]x

x

2

2

cosec

cot

1

=

+


8. 
[image: image8.wmf]B

A

B

A

B

A

sin

cos

cos

sin

)

sin(

±

=

±


9. 
[image: image9.wmf]B

A

B

A

B

A

sin

sin

cos

cos

)

cos(

m

=

±


10. 
[image: image10.wmf]B

A

B

A

B

A

tan

tan

1

tan

tan

)

tan(

m

±

=

±


11. 
[image: image11.wmf]A

A

A

cos

sin

2

2

sin

=


12. 
[image: image12.wmf]A

A

A

2

2

sin

cos

2

cos

-

=


13. 
[image: image13.wmf]A

A

A

2

tan

1

tan

2

2

tan

-

=


14. 
[image: image14.wmf]A

A

2

cos

2

2

cos

1

=

+


15. 
[image: image15.wmf]A

A

2

sin

2

2

cos

1

=

-


16. 
[image: image16.wmf]A

A

A

3

sin

4

sin

3

3

sin

-

=


17. 
[image: image17.wmf]A

A

A

sin

3

cos

4

3

cos

3

-

=


18. 
[image: image18.wmf]A

A

A

A

3

3

tan

3

1

tan

tan

3

3

tan

-

-

=


Must be learned





Come from dividing through (5) by either sin2 or cos2





On Formula Sheet





Come from putting B=A into (8), (9) and (10)





Come from (11) and (12) replacing either:


sin2 = 1-cos2	(14)


or   	cos2 = 1-sin2	(15)





Come from putting A=2B into (8) and (10)








_1346438230.unknown

_1346438754.unknown

_1422088104.unknown

_1422088149.unknown

_1422090653.unknown

_1422088116.unknown

_1422087528.unknown

_1422087535.unknown

_1408527516.unknown

_1422087451.unknown

_1346438537.unknown

_1346438600.unknown

_1346438636.unknown

_1346438568.unknown

_1346438359.unknown

_1346438155.unknown

_1346438182.unknown

_1346438104.unknown

